
ENGLISH PRACTICE 25
I. Circle the letter A, B, C or D of the word whose underlined part pronounced differently from the rest. (10  pts) 

	1
	A
	popular
	B
	body
	C
	knowledge
	D
	comfort

	2
	A
	bought
	B
	shout
	C
	owl
	D
	abound

	3
	A
	cease
	B
	ease
	C
	meadow
	D
	decrease

	4
	A
	father
	B
	gather
	C
	hang
	D
	plank

	5
	A
	chase
	B
	amaze
	C
	grand
	D
	laziness

	6
	A
	fill
	B
	till
	C
	title
	D
	mill

	7
	A
	crimes
	B
	demands
	C
	envelopes
	D
	tools

	8
	A
	morning
	B
	mourn
	C
	pour
	D
	tour

	9
	A
	range
	B
	foggy
	C
	huge
	D
	gymnastics

	10
	A
	fond
	B
	pond
	C
	follow
	D
	of


II. Find and circle  the letter A, B, C or D of the word which has a different stressed syllable . (10 points).

	1
	A
	gravity
	B
	pharmacy
	C
	family
	D
	invitation

	2
	A
	seldom
	B
	amount
	C
	Sunday
	D
	thirty

	3
	A
	subtraction
	B
	pharmacy
	C
	memory
	D
	element

	4
	A
	thirteen
	B
	divide
	C
	married
	D
	decide

	5
	A
	lengthen
	B
	minus
	C
	mosque
	D. 
	tattoo


III.  Circle the best answer to complete each sentence. (30 points)
1. Ann won't be going to the meeting, and ………….

	A. her friends won't neither.
	B. neither will her friends.

	C. her friends will either.
	D. her friends won't, too.


2. Don't worry; some day you will get ………….English.

	A. used to speak
B. use to speak             C. use to speaking
      D. used to speaking
	B. use to speak             
	C. use to speaking
	D. used to speaking


3. Tom…………. that he could not attend classes next week.

	A. said his teacher
	B.told to his teacher    
	C. told his teacher
	D. spoke to his teacher


4. …………. so many people been out of work as today. 

	A. Never before have
	B. More than ever before
	
	

	C. In the past, there never have   
	D. Formerly, there never were
	
	


5. When his wife arrived home after a hard day at work, he was sitting on the sofa, ……

	A. watched TV.
	B. watch TV.      

	C. watching TV.
	 D. was watching TV.


6. The duties of the new secretary are to answer the telephone, to type letters, ………….

	  A. and to do the bookkeeping.        
	B. do the bookkeeping

	 C. and do the bookkeeping.
	D. and the bookkeeping.


7. The greater the demand for a product, ………….the price.

	A. higher
	
B. the highest                 
	C. the higher.
	D. the high


 8. American use sports …. interest  in  health and fitness and ……. their leisure time. 

	A. to express/to occupy
	B. to express/ occupying

	C. expressing/occupying
	D. expressing/ to occupy


9. Stephen  wouldn’t have had an accident ………….. too much.

	A. if he didn’t drink
	B. unless he would drink
	
	

	C. if he hadn’t drunk
	D. unless  he had drunk
	
	


10.  …………  people nowadays have more free time, they do not always spend it wisely.

	A. Despite 
	B. However
	C. But
	D. Although


11. If I ….. this jacket back to the shop. Do you think they’d  … it back? I bought it  a week ago.

	A. take/take
	B. bring/take
	C. took/take
	D. brought/take


12. There are many…… on television where a team of people have to answer questions.

	
A. queries
	B. riddles
	C. inquiries 
	D. quizzes


13. Children have to …………. respect to their parents and teachers.

	A. show
	B. take
	C. feel
	D. express


14. It is…………. knowledge that you have to drink more fluids when you have flu.

	 A. common
	B. popular
	C. widespread
	D. updated


15. I read the contract again and again ……………. avoiding making spelling mistakes.  

	A. with a view to      
	B. in view of            
	C. by means of    
	D. in terms of


16. You should be very…………. to your teachers for their help.

	A. thankful
	B. thanking
	C. grateful
	D. considerate


17. That cupboard must always be ………….. carefully locked.

	A. guarded
	B. shut
	C. closed
	D. kept


18. The earth is not a completely solid ball of rock, but  …….. various layers.

	   A. makes up of          
	B. makes up with    
	C. is made up of
	D. is made up with


19. Tom: "This silver vase is tarnished.".       Tim: - " In my opinion, It needs  …….."         

	A. to be polish         
	 B. polishing.            
	C. polished
	D. being polished


  20. "I can't understand how you missed the exit." ~ "Well, it was so dark  ………"

	A. we could see the road signs hardly 
	B. hardly could we see the road signs
	
	

	C. we could see hardly the road signs 
	D. we could hardly see the road signs
	
	

	21. This old man said that he was opposed  …………… the marriage of his niece.  

	     A. of
	B. to
	C. from
	D.  against 

	22. It 's pay - day, and they are waiting …………… .  

	     A. for paying
	B. to be paying
	C. to have paid
	D.  to be paid

	23. She has ……………  work to do that she gets very tired.

	     A so many
	B. much more
	      C. so much
	 D. too much

	24. Hardly …………….  asleep when the phone woke him up again. 

	A. the doctor fell
	B. the doctor had fallen
	
	

	C. did the doctor fallen
	D. had the doctor fallen 
	
	

	25. She is not used ……………  spoken to like that. 

	     A. to be
	B. to being
	C. being
	D.  with

	26. If I had met you last Sunday, I …………….  here today. 

	  A. wouldn't have being
	B. wouldn't have been
	
	

	  C. wouldn't be
	D.  had been
	
	

	27. A large number of students in this school …………..  English quite fluently. 

	     A. speak
	B. speaks
	C. is speaking
	D.  has spoken 

	28. Claims for compensation could …………..  run into millions of pounds. 

	      A. far
	B. much
	C. well
	D.  most

	29. We welcome the new regulations, which become …… on the first of the next month. 

	      A. effective 
	B. efficient 
	C. efficacious
	D. effect

	30. I wish you ……………….  me a new one instead of having it ………. as you did. 

	A. would give-to repair
	B. gave -to repair
	C. had given- to be repaired
	D. had given- repaired 


IV. Find the incorrect underlined part. Circle your choice A, B, C or D. (10 points)

1. Light rays can make the desert appears to be a lake.

               A

          B
   C
              D

2. Tuition at universities has raised by one hundred dollars this year.

         A 
       B
              C


          D 

3. According  some scientists, the earth is losing its outer atmosphere because of pollutants.

           A



             B         C


          D

4. Much industrial products can be made from soybeans. 

        A                          B                        C               D



5. Dentistry is a branch of medical that has developed  dramatically in the last twenty years.

          A                    B           C                                           D

6. Paint must be stirring and sometimes diluted before it is applied.

        A

         B

             C                    D

7. It was difficult to see the road clearly because the rain

   
       A
                     B
              C              D

8. Passengers travel comfortable and safely in the new jumbo jets. 

            A

      B
                    C

       D

9. The guest which just arrived forgot to sign his name in the hotel register 

      A
             B


            C
            D

10. If you don't work hard, you cannot expect to be succeed.


         A
       B
          C
            D

V. Give the correct tense or form of the verbs in brackets: (20 points)

1. I was terribly disappointed …………….. (discover) that he ……………. (lie) to me.

2. I really …… (not expect) ……….. (introduce) to the President at the meeting last week.

3. He ……….. (try) ……… (save) $ 500 every year. By the time he ………. (retire), he …………(save) $20, 000.

4. As our new furniture ……… (deliver) next Monday morning so I’ll have ……… (stay) at home ………… (check) that it ………. (not damage) during transit.

5. Mr. Brown  often ………. (have) difficulty ……….. (get) along with his friends due to his ……… (irritate) manner.

6. She ………. (look) for a job for ages but she still ……….. (not able) ………… (find ) one.

7. Don’t bother ………. (make) out a receipt. I always ………. (throw) it away.
Write your answer here:

	1. 

	2. 

	3. 

	4. 

	5. 

	6. 

	7. 


VI. Give the correct form of the words in brackets. (20 points)
	1. 
	Some people are ..... by any form of technology.
	TERROR

	2. 
	My mother wants me to have this photograph .........
	LARGE

	3. 
	After a ....... night on the train he didn’t feel like sightseeing.
	SLEEP

	4. 
	Answer the detective’s questions ..... and no one will harm you.
	TRUTH

	5. 
	Who is the .... of this wonderful work of art.
	CREATE

	6. 
	The policy is ... and so will cost the government a lot of money.
	ECONOMY

	7. 
	My cat has green eyes and a long .............. tail.
	FUR

	8. 
	Slavery is the opposite of .............
	FREE

	9. 
	The athlete .................. decided to aim for three gold medals.
	AMBITION

	10. 
	The company is very efficient and gives a  ......... service.
	SPEED


Write your answer here:

	1 
	2 
	3 
	4 
	5 

	6 
	7 
	8 
	9 
	10 


VII. Read the 02 following passages and circle the best answer A, B, C or D. 

Passage A (10 points)

Everyone has got two personalities- the one that is shown to the world and the other that is (1)............ and real. You don’t show your secret personality when you are (2)..........., because you can control yourself. But when you are asleep, your feeling position (3).......... the real you. In a normal (4) ........, of course, people often change their position. The important position is the one you go to sleep in.

If you go to sleep on your back, you are a very (5)............ person. You usually believe people and you accept new things or new ideas easily. You don’t like to make people sad., so you never express your  (6) ........... feeling. You are quite shy.

If you sleep on your stomach, you are a rather secretive person. You (7).......... a lot and you always easily become sad. You usually live for today not tomorrow. This means that you  (8).......... having a good time.

If you sleep curled up, you are probably a very (9) ............person. You have a low opinion of yourself. You are shy and don’t like meeting people. You (10)............... to be on your own. You are easily hurt.

	1
	A
	important
	B
	serious
	C
	secret
	D
	particular

	2
	A
	awake
	B
	active
	C
	happy
	D
	honest

	3
	A
	makes
	B
	understand
	C
	changes
	D
	shows

	4
	A
	room
	B
	bed
	C
	night
	D
	body

	5
	A
	independent
	B
	open
	C
	talkative
	D
	generous

	6
	A
	real
	B
	lonely
	C
	cheerful
	D
	gentle

	7
	A
	talk
	B
	sleep
	C
	relax
	D
	worry

	8
	A
	regret
	B
	enjoy
	C
	miss
	D
	deny

	9
	A
	strong
	B
	healthy
	C
	nervous
	D
	careful

	10
	A
	pretend
	B
	oppose
	C
	refuse
	D
	prefer


Passage B: (10 points)

THE STATUE OF LIBERTY

One of the most famous statues in the world stands on an island in New York Harbour. This statue is, of course, the Statue of Liberty. The Statue of Liberty is a woman who holds a torch up high. Visitors can go inside the statue. The statue is so large that as many as twelve people can stand inside the torch. Many more people can stand in other parts of the statue. The statue weighs 225 tons and is 301 feet tall.

The Statue of Liberty was put up in 1886. It was a gift to the United States from the people of France. Over the years France and the United States had a special relationship. In 1786 France helped the American colonies gain independence from England. The French wanted to do something special for the U.S. centennial, its 100th birthday.

Laboulaye was a well-known Frenchman who admired the United States. One night at a dinner in his house, Laboulaye talked about the idea of a gift. Among Laboulaye’s guests was the French sculptor Frederic Auguste Bartholdi. Bartholdi thought of a statue of liberty. He offered to design the statue.

Many people contributed in some way. The French people gave money for the statue. Americans designed and, built the pedestal for the statue to stand on. The American people raised money to pay for the pedestal. The French engineer Alexander Eiffel, who was famous for his Eiffel Tower in Paris, figured out how to make the heavy statue stand.

In the years after the statue was put up, many immigrants came to the United States through New York. As they entered New York Harbour, they saw the States of Liberty holding up her torch. She symbolized a welcome to land of freedom.

1. All of the following statements are true EXCEPT

A. The statue was the result of a very good relationship between France and the USA.

B. The statue is large enough for twelve people to stand in it

C. The French made the statue a gift to the USA on the occasion of its 100th birthday.

D. The Statue of Liberty is a woman who holds a torch up high.

2. 1886 was a special year for the US because ....................

A. it was the 100th birthday of the nation        

B. the Statue of Liberty was put up then

C. it marked a special friendship between France and the US

D. the US gained independence from England

 3. The first person to think of a statue as a gift was ................... .

A. Laboulaye                                                    
B. Alexander Eiffel

C. The French people                                      
D. Frederic August Bartholdi

4. The pedestal for the statue was ................... .

A. designed and  built by Bartholdi

B. as famous as the Eiffel Tower in Paris

C. designed and paid for by Americans.

D. not strong enough for the heavy statue to stand on
5. Alexander Eiffel was the person who ..................... .

A. designed the statue



B. figured out how heavy the statue would be

C. figured out how to make the statue stand
D. chose New York harbour for the statue to stand
VIII:  Choose from the phrase A-H the one which fits each gap.(10 points)
    
 Sports in North America go back to the Native Americans , who played forms of lacrosse and field hockey. During colonial times, ….....(1), still a small park in southern Manhattan. However, organized sports competitions and local participatory sports on a substantial scale go back only to the late 19th century. Schools and  (2) ………………..emphasizing physical as well as mental vigor, and churches began to loosen strictures against leisure and physical pleasures. As (3)…… and less physical during the late 19th  century, Americans became concerned with diet and exercise. With sedentary urban activities replacing rural life, Americans used sports and outdoor relaxation to balance lives that had become hurried and confined. Biking, tennis and golf became popular for those who could afford them, while (4) …………city activities. At the same time, organizations such as the Boy Scouts and (5) ………… as a part of their efforts to counteract untruly behavior among young people.

A. early Dutch settlers bowled on New York City’s Bowling Green

B. sandlot baseball and an early version of baseball became popular

C. football was played by men first

D. work became more mechanized, more clerical

E. colleges began to encourage athletics as par of a balanced program

F. sports and games affected many schools and colleges

G. the young Men’s Christian Association (YMCA) began to sponsor sports

         H. high school held extra-curricula activities

IX. Each of the following sentences contains an error, find and correct it (10 points)

	1. The police is now investigating the robbery that took place in our neibourghhood last night

2. There was a slight disagreement between committee members of the club, regarding their trip next month.

3. Most of us were feeling sleepier at the meeting because the speaker had a monotonous voice.

4. She was not unaware of their presence in the room as she was absorbed in her reading.

5. When you talk to the old man, please speak out, he is hard of hearing.

6. My pen has few ink in it; so could you give me some?

7. Neither William or his brother stole the apples from the orchard.

8. It is hoped that the development countries will be less selfish in their economic policies and help the poorer nations.

9. The audience watching the rock concert obviously do not satisfy with the performance the band presented.

10. Those silly ghost stories made Pakcil Abu feared to go upstairs by himself.


	1.........................

2.........................

3.........................

4.........................

5.......................

6........................

7.......................

8........................

9........................

10........................


1. The police is now investigating the robbery that took place in our neibourghhood last night

2. There was a slight disagreement between committee members of the club, regarding their trip next month.

3. Most of us were feeling sleepier at the meeting because the speaker had a monotonous voice.

4. She was not unaware of their presence in the room as she was absorbed in her reading.

5. When you talk to the old man, please speak out, he is hard of hearing.

6. My pen has few ink in it; so could you give me some?

7. Neither William or his brother stole the apples from the orchard.

8. It is hoped that the development countries will be less selfish in their economic policies and help the poorer nations.

9. The audience watching the rock concert obviously do not satisfy with the performance the band presented.

10. Those silly ghost stories Pakcil Abu made feared to go upstairs by himself.

X. Rewrite each of the following sentences in such a way that it has the same meaning as the printed above sentence. (20 points)

1. " Let 's go for a walk in the park," said Andrew

Andrew suggested ... .................................................................................................................

2. His second attempt on the world record was successful.

He broke ..................................................................................................................................

3. She and I have never been there before.

Neither..... ...............................................................................................................................

4. What particularly impressed me was her excellent command of English.

I ....................................................................................................................................................

5. The result of the match was never in doubt.

At no time ..................................................................................................................................

6. This will be the orchestra 's first performance outside London.

This will be the first time ............................................................................................................

7. In spite of taking a taxi, Bill arrived late at the meeting.

 Although Bill .............................................................................................................................
8 The house looks better since the repainting was done.

The house looks better now.........................................................................................................

9. The concert was not as good as we had expected.

  The concert didn’t come............................................................................................................

10. Mosquitoes cause malaria.

  Malaria is known ............................................................................................................

XI. Rewrite the following sentences, using the word in the brackets. The second sentence must be as close as possible in meaning to the first. Don’t change the word given (20 points)

1.  Even if we don’t like the idea, we’ll have to go with him.  (whether)

...................................................................................................................................................

2.  Which of the two books would you prefer? (rather)

.....................................................................................................................................................

3.  It was touch and go whether he recovered or not. (balance)

...................................................................................................................................................

4.  In these plans nothing has been overlooked. (covered)

......................................................................................................................................................

5.  Robert is very self-confident. (confidence)

....................................................................................................................................................

6. The ship was hardly visible through the thick fog.(make)

…………………………………………………………………………………………………

7. You can avoid tooth decay by brushing your teeth regularly.(prevented)

 …………………………………………………………………………………………………

8. I think reading is preferable than watching TV.(rather)
 …………………………………………………………………………………………………

9. Most people regard him as being the best man for the job.(widely)

 …………………………………………………………………………………………………

10. You aren’t allowed to smoke on the plane.(ban)

 …………………………………………………………………………………………………

XII. Find only one word to complete the following sentence.(20 points)

1. Many people like to keep cats as ……………………………… .

2.  The scientists who study the sky are called ……………… . … .

3. My mother chose teaching as her ……………………… ……. .

4. He writes a lot of plays. He is a ……………… .……………… .

5. Dang Thai Son plays the piano wonderfully. He is a well-known …………… .

6. Mary suddenly left the room ……………………………… a word.

   7. I’m not in …………....… of children leaving home at such early age.

   8. We walked on tiptoe for ……....………… of being discovered.

   9. The bridge is ………...…… repair so we’ll have to take the long way round.

   10. That wasn’t an accident. You did it on …….............…….. .
KEYS
I. Circle the word whose underlined part pronounced differently from the rest. (10  pts: 1/1) 
 
1. D
2. A
3. C
4. A
5. C
6. C
7. C
8. D
9.B
10. D

II. Find and circle  the word which has a different stressed syllable . (10 points: 2/1).

1. D
2. B
3. A
4. C
5. D

III.  Circle the best answer to complete each sentence. (30 points: 1/1)
	1B
	4A
	7C
	10D
	13A
	16C
	19B
	22D
	25B
	28C

	2D
	5C
	8A
	11C
	14A
	17D
	20D
	23C
	26C
	29A

	3C
	6A
	9C
	12D
	15A
	18C
	21B
	24D
	27A
	30D


IV. Find the incorrect underlined part. Circle your choice A, B, C or D. (10 points: 1/1)

1. C
2. C
3. A
4. A
5. C
6. B
7. C
8. B
9. B
10. D

V. Give the correct tense or form of the verbs in brackets: (20 points: 1/1)

1. to discover/had lied

2. didn’t expect/to be introduced

3. tries/to save/retires/will have saved

4. is being delivered/to stay/to check/hasn’t been damaged

5. has/getting/irritating

6. has looked (has been looking)/hasn’t been able/to find

7. to make/throw

VI. Give the correct form of the words in brackets. (20 points: 2/1)

1. terrified

2. enlarged
3. sleepless
4. truthfully

5. creator

6. uneconomical
7. furry
8. freedom
9. ambitiously
10. speedy

VII. Read the 02 following passages and circle the best answer A, B, C or D. 

Passage A: (10 points: 1/1)

	1.c
	2.a
	3.d
	4.c
	5.b

	6.a
	7.d
	8.b
	9.c
	10.d


Passage B: (10 points: 2/1):     1. B 
2. A 

3. D 

4. C 

5. C
VIII:  Choose from the phrase A-H the one which fits each gap.(10 points)

 1a
2.e
3.d
4.b
5.g

IX. Each of the following sentences contains an error, find and correct it (10 points)


1. is- are

2. between- among

3. sleeper- sleepy


   4. unaware- aware     5. speak out- speak up
6. few- little


   7. or – nor
         8. develop- developing           9. do- did

  10. feared- fear

X. Rewrite each of the following sentences in such a way that it has the same meaning as the printed above sentence. (20 points: 2/1)

1. Andrew suggested going for a walk in the park. / Andrew suggested that they should go for a walk in the park

2. He broke the world record at / on his second attempt. 

3. Neither she nor I have been there before. / Neither have she and I been there before.

4. I was particularly impressed by her excellent command of English. 

5. At no time was the result of the match in doubt. 

6. This will be the first time the orchestra has played / performed outside London.  

7. Although Bill took a taxi, he arrived late at the meeting.

8. The house looks better now that it has been repainted.

9. The concert didn’t come up to our expectations.

10. Malaria is known to be caused by mosquitoes .

XI. Rewrite the following sentences, using the word in the bracket. The second sentence must be as close as possible in meaning to the first. (20 points: 2/1)

1. Whether we like the idea or not, we’ll have to go with him.

2. Which of the two books would you rather have?

3. It was in the balance whether he recovered or not.

4. In these plans everything has been covered.

5. Robert has a lot of confidence in himself.

6. You could hardly / couldn’t/ ®idn’t make out  the ship through the thick fog.

7. Tooth decay can be prevented if you brush your teeth regularly.

8. I would (‘d) rather read than watch TV.

9. He is widely regarded as being the best man for the job.

10. There is a ban on smoking on the plane.

XII. Find only one word to complete the following sentence. (20 points: 2/1)

	1. pets

2. astronomers

3. career

4. playwright

5. pianist
	6. without

7.  favo(u)r

8. fear

9. under

10. purpose




The end
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